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(2)
1. Answer the following as directed - 1x8=8
iR epqafer RerRm Teg Wi
(2)). 1l Vigg = _ pound (Ib).
(Fill in the blank)
1@/& =_ °  «nee(lb)

(TR *fof 257)
(b) Selling price = Marked price —

R o1 = i o0 — ¢ blank)

CETRR o1 )
() T SP>CP, then SP-CP=____

It SP > CP, @ix¢el SP —-CP = __ |

(d) The survey based on sam
sample survey.

Wﬁw%ﬂmﬁﬁwﬂmﬁﬁwyﬁrﬁ?e or False)

(e) Statistics cannot be misused.
(Wl‘lte Try

€orF
738 - Reacag SRR T IF 1 alse)

(o7 = wPTS] o
(f) Find the value of X, if

x &7 Wi e 7, 3
4:x=17:42
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(3)

T 1 W] oy
log,a=1
(h) What are the coordinates of the origin in coordinate
geometry?

2. Answer the following questions : 2x5=10

© TSR Tag w16 :

(@) Ifa:b:g.sandb;c=4:7, then find a : c.
qﬁa:b=2.Smbzczz}:?,wa:c'ﬁ‘fﬂﬁ!'

(b) Find the distance between the pair of points (0, 5) and
(12, ),
(0: 5) Qﬁg (12’ O) ﬁﬁ(ﬁw Wﬁ‘fﬂw |

(¢) Subtract 1.g710 from 1-54125.

(@) Simpligy .
FHFA
N+2 _2ﬂ
on+3 | g2

C alculatlng aregy

(e) Write rmulae for :
down the two fo i reSPeCtlvely v

of a circle and area of a Semicirc
radius is r.

ﬂm-@qaauﬁﬁﬂwwwwﬁ@ﬁ%qﬁ
TP =y |
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(4)

3. Answer the following questions : 3x5=15
RIS epafer Tuy ws :
(a) If a:b=2:5, then find 2a+7b): (7a-b).
It a:b=2:5, ez (2a+7D): (7Ta - b) [fg 34 |

Or / g2<7
Find the value of logy .,/6+Iog2 \/g

log, \/6_+10g2\/gxﬂ§§1ﬂﬁ°f§§f<ll

(b) Neeta bought a saree for ¥2,500 but due to some
' defect, sold it for £2,300. Find the percentage of loss-

ST 2,500 S ey s AR B Ry s el 61 MO
2,300 B s ey ficateel | ORI G e 3+ |

o sides are

(c) The perimeter of a triangle is 540 m and it
in the ratio 25 : 17 : 12. Find its area. T
930 fIsrem <y 540m @} faweite S
25 : 17 : 12. fapsfy cvad Mo 37 |

(d) Solve :
ST <7
&+x=—6—
25
Or / g2
3x+._1_=_1_(.)_
32s

tak
(e) Show that the points (3 1), (9, 7), (-3, Z)ht_ L
order are the vertices Of an isosceles rig
triangle_

STHCIN
o8 @ (3, 1), 9, 7), (-3, 7) Fragkr ¢ s
Wm%ﬁl
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4. Answer either (q) or (b) : | S
(@) ST (b) <1 By e -

(a) Howkli‘lll..lch Percent above CP should a shopkeeper
mars IS goods go that after allowing a discount of
mﬁiﬁﬁ 10% @I T8 RS Fea crieemmisess aeens

; ° S TS %re, @@ CP)-93 ©
S me?m( )-99 T oAl o I

(b) Thedperimeter of a rhombUS™iS 100 cm and one of
its diagonal ig 40 c¢m. Find the i
e 4 other diagonal and
a3 TIOW 1Ry 100 cm TR @ qoh I¢fq o 40 cm.
wﬁawﬁ?ﬁ%mm CFTST ey 35 |

5. Answer €ither (@) o, () : 5
(@) 51%A1 (D) 99 Twg g .

(a) A .mmmre Containing 61% pure ghee ig prepared by
miXing pure ghee with 117 kg of vegetable ghee. Then
40 kg more pure ghee is added to the mjxture‘ Find
the percentage of pure ghee in the mixture .
wm 9-9F ee 117 kg 7% R fifg 61 w@q'“\% R® =
g3 Tl TR <oy 2ot 1 e wiMe 40 kg v &y o 27 |
fabee Wm Ri-qg =1 R e 99 |

(b) Find the area of a triangle whose three sides are
26 cm, 28 cm and 30 cm respectively.

a7l fI9eE crags R 37 T R ABY oy = A
26 cm, 28 cm 33 30 cm.

6. What are the limitations of statistics? E

“Roiesy-RSCH Trrerz 9 2
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(6)

Or / 3’41
Write what you know about the functions of statistics.

MRPR- R FrReR e oft 91 wF, @ |

In what ratio does x-axis divide the segment joining the
points (4, 5) and (1, 2)? 5
) SRS - (4, 5) @R (1, 2) NIERR wmy gl @G
Ree 31 ?

If log, 3 = a, then find logg D: 5
3fi log, 3 = a, 9= logg 27 foyef <9 |
Show that
e 3
loggiX. . B 5
g s+ rlog,
logab X
Or / 94l
i m
If the parallel sides of a trapezlum gy, ,, . and th Ce ”
and the remaining two sides are 39 o cts
find its area. s a@
ﬂﬁﬂﬁiﬁ%ﬂmwmﬁﬁcm a3z 52 cm T
1 7% 30 cm @R 20 cm Z ; R £
Explain the important oiﬁts. to be- Noteq while fraﬂllng 5
preparing schedule 0F quEsHonEe fmafe
TR R ooy, 2@ T ol T AN T T
HICEABA 9 | Or / S

; and
Explain the various methods of collecting primary

secondary data in brief-

mqﬁ@mﬁﬂ] G cﬁqWEquWﬁfé’ﬂW
FRCFCA SICeTo= <P |
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(7))
11. (@) Solve : 4
S <]
x—2 S
2@ J2S X
Or / =11

Explain briefly the scopes of statistics in business.
TP CRCA MR- farced AR Seawe) 10 4 |

(b) Discuss the Advantages of sample survey over census. 4

WﬂWWMWﬁWWWI

12. (@) Distinguish bety,e.. census and sample survey. 4
9] G} Zil\':ﬂrm % 75 “12F CTY |
Or / 9341

rent stages of statistical investigation.

J RifSa SR SACAB 9 |

Discuss the diffe
AR

b) What d

& methods(} YOU mean by statistical data? Name two
ARPTERPry ! Collecting primary data.
%;ﬁ. l' S TS F @2 =i sRicER ©ey e 7o A

13. (@) Draw a histogram of the following data : 2
Ci[@H| wm@fﬁﬁquumm .

Class intervq;
e 10-15 | 15-20 | 20-25 | 25-30 | 30-35

Frequency
IR QM 55 - SO OB 35

(b) What are the uses of diagrams and graphs? "
foa @R @~ TP P F 2
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14. Prepare a frequency distribution table from the following
data taking the class interval as 21-30, 31-40, ---, etc.

21, 20, 55, 49, 48, 46, 36, 54, 42 30
29, 42, 32, 40, 84, 31ME5, 87, 55 44
39,.45, 37, 33, 51, 5382, 46, 43, 47
g 06,62, 48, 253 8deE37 . 33 86T
Sda 36, 41, 33,23, 395 28, 44, 45, 38
Also find (@) the frequency density of each class and
(b) percentage frequency between 31-4q 4+2+2=8

ﬁtﬁﬁw%@ﬁﬂ%ﬁmaﬁwawﬁmmwﬁwzﬁ'@ﬁ

SRS 21-30, 3140, --- ¥ ¥ s .
21, 20, 55, 49, 48, 46, 36, 54
29, 42, 32, 40, 34, 31, 35, 3’
39, 45, 37, 33, 51, 53, 52, 4¢°
PRGN NIeo 5, 3%, 37 33:
54, 36, 41, 33, 23, 39, 28, 44

42, 30
52, 44
43, 47
SHWDT
455 38

(@) 2l AR IRl TTe A 9
(b) 3140 & T AR TR TSN 2 ety 2|

Or / SRRr

Wwrite a note on the mfﬂ'n- POl e he
construction of frequency dl.Stnbu'uon tables Also define
class interval and class limits,

e Rt iR 28 00 TR 6 T3 Reygogead TFH 0
S @1 | I S @) @A A REIS @1y |

8

* k&
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